Stz Al E A5 OF|O
20245tH . W A K| = (2u36 542,/ 1|92, E£2)
FRejxEsSsta
181 | 28ha | 33hd | asba | sabd |esta | A
5 | 6 | 6 7 6 6 | 36
— CEC=—
AE
2ty
= s 53 | 52 | 5-1 | xieien
EV
— stz | |=oja2 55
A=
Y
56 | 55 | 5-4 2
| = E= 64 — o176 BEE| 824
_ i) ] Nal stas
S=EEN 3-6 | 3-5 | 3-4 |&E| 65 S=ErN 6-3 | 6-2 | 6-1 |5l 2
Ev EV
SER] o1&t 45 — g2 e 35
B ]
saa D24
3-3 | 32 | 3-1 e 2-3 | 22 | 2-1
I]||:|10'|§ ksHAl
sy 2hia
gE|
aicioi i"ﬂa Detar
exn B 26 | 25 | 24 | ama 5
W AHA
24 | ptp4 S Z;Z §'J1"Aalj’g: ==
3 | X
CF & |’
S sma 42 | 41 | 6-6 |J S sm s 45 | | =5 ssa
BV EV é =9
871 na 28 o 2N 15
e e
1-1 | 1-2 | 4-3
TP = =
nea
A
81018 4-4 = o 2208
1-5 e 2a= =
1-4 | 13 | ama B 82| 47 | 4-6 | ama B




